AP Calculus — 8.2a Disc Method - Homework Solutions pg. 592-596
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5. Using the disk method, the radius of each disk is 2,/z, so the volume is
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7. y= B about the y-axis

7. Since we are revolving around the y-axis with the disk method, first solve the equation for
x to get x = —Ll; Then the radius of each disk is i so the volume is

4 2 4 1 c
1 1 1 1 3

V=Tr/ (—) dy=7r/ —.dy=7r[——l =7r(1——>= x|
Yy A¥ 1 Y2 vl 1 4




8. Since we are revolving around the y-axis with the disk method, first solve the equation for
x to get = y3/2. Then the radius of each disk is °/2, so the volume is
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